HPV 2 & A8 ¥ 1§ 2 3

2020.07 »x

AN 8-
- R
(=) 9-14 fhfd 2 413
BBl i - AR FLH 0 o % Afow - A5 B (150 =
42)% 13 1 7 (390 % 1)z R ¥ o
(=) 15 & 12 4248 3 1%
BBl s E - AE RS0 F o A F - ATE LB (30 % 42)
325 (753 k)2 B4 $ = A fe%— HWIES5 B (150 2 42)3
12 1 7 (360 = 2k )2 B %47 o

I~ A RBEARZ AR
-)B%E: 9-14;%«‘ C Aoy 2 B Aew - AR 150 % (149 % 2T
TIHZ A tb'r—é‘-;‘%‘f CHE AR =BT FIE84 XY % - By =
2R 180 = 4= 1 360 % it o
)f@s%;; 16 1t b o de% Ao ® - BT A 752 (W76 % 111)
:ﬁfufr“:éxsugmmo (B2 84 % A3g*)o
WP A BERF By - BT T6X 0T R By - BFE 84 %
HEQERT > ¥ Blfex = B IR S 76+84=160 % - /] 3t H ¢ R
FE 6 B % (180 = )2k im » geimazix % = &lfr s - HE L > F g 120 = o

w}L,\,

f

(

Iy

ER 4
(- )#Ex#hp 1HB2=30=1%=7=
(F)mu iz Es AL 2 AR 2SR T A

TS R e



e fRe

- S BRAFRE

(-)9-13 & 2 &%
RR] %3 % - FEXF250% > %= &% - HFME6 B2 (180 =
4=)% 12 B % (360 % 1)z FF 2547 o

()14 fhrd F 46 3 A7
RBI:S4 % - AF X250 5= Ffod - BTIE 2B 7 (60 % 42)
Wit B Ao ¥ - AR 6B 7 (180 2 42)3 12 B 7 (360 = i)z %
Fr oo
FHARP @ 5= Fc% - HFIE 120 % 3 360 % 2 B4 o

L
(<) #E 2 HRA D101 =30 %~ 1=7 =
(2) FUBHES p ok B = A6t 2 5cf o BhAREY U= B FIR A
LA OIB K KR WA T E - AR B A doh L IR H
S S EEE
(Z) MR TR 2 RS R
BBFIEAHL B LT dad

o

FERCE Y EIRIN S U o EIE
#

o

B
B
2,
P



4 HRY
- BRI
(-)9-14 % 2 47
RBl %+ 5% - BFXELZH0% 0 %2 Ffor - HFE6H? (180 %
42)3 12 % ? (360 % 1F )2 B3¢ o
(2) 15 1t b 3548 3 )7
RBI %% - RF 25503 % - #fcsr - HIFE2B 7 (60 =42)
it R ZAlfey - HIFIE6 B (180 X 4=)% 12 B ? (360 = 1)z A

ah'o
FAHZEP 5= &fcs - BFRE 120 = 3 360 % 22 P4 o

I~ ARBEARZ KR
B %5 9-14 ff > 4ok = Alfodk — HF FE > 150 % (149 X 12177 ) F T

FZA G R Ay = AT 120 * 1 360 % 2 B a4 o

N e o
(-)#ExHhP 1 1H?=30=% ~13F=7%
(Z) FUBZ 4R D Dk ied BR 9 W42 500 > BT B &4 0-14 7 1
YT RN = A R AR E RS REY AR RBYERIEX B
Fw o MNFAAAEE G o
(Z)¥H AT 2 ERAGEARE P2 AR 23 E TR
BAFEAE? PETI P AZLF

o






